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GENERAL INSTRUCTIONS TO THE EXAMINEES

1.

RIeTRl FAuem U ued U U AMid Sifarid: for |

Candidate must write frist his/ her Roll No. on the question paper compulsory.
T T B B A B |

All the questions are compulsory.

YD YT P IR ol T3 STRYRAHT H B foree |

Write the answer to each question in the given answer Book only.

o gel & 3TTaR® wWve 7, 39 1 & UH & SR U A1 2 forer |

For question having more than one part, the answers to those parts are to be written

together in continuity.

Ued UF & BT g US ®URRY § {6 UpR & Ffe /IR / fRem™ s F R Bl
TS & U bl T8l H |

If there is any error/difference/contradiction in Hindi & English versions of the question

paper, the question of Hindi versions should be treated valid.
U B SR foled I Yd U BT HHiD ey o |

Before writing the answer to the question, you must write the serial number of the

question.

Ued ¥, 23 AFRE BR W Heftd 81 3R 4 3fd BT 2|
Question No. 23 is related to map work and carries 4 marks.

U . 21 ¥ 23 ddb # 3MaRe fAdea g

Question No. 21 to 23 have internal choice.
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Section- A

Tefieed ye —

Multiple Choice Questions -

U1, 9 UeHl & SR b1 W8T [dbed T R STRYNGDT H TR |

Write the answer to the following questions in the answer book.

(i) 7T SRS FHSIAT Pe BT, —

(31) 5 STFTeRT 1930 @) 5 7T 1931
() 15 ST 1931 (@) 5 W 1930
When was Gandhi Irwin pact finalised ?

(a) 5 January, 1930 (b) 5 march, 1931
(c) 15 January, 1930 (d) ) 5 march, 1930

() fB= TR J&Id & oACh B o—

(31) STaERAT E% (@) -TeaT "

(d) HSTHT e (@) T Rig

Who wrote the book ‘Hind Swaraj’ ?

(a) Jawaharlal Nehru (b) Nelson Mandela

(¢) Mahatma Gandhi (d) Bhagat Singh
(in) fazgeamdt e w&l B oA g% —

(31) 1919 (@) 1929

(&) 1935 (g) 1933

The great depression began around -
(a) 1919 (b) 1929
(c) 1935 (d) 1933

(V) RT &1 U ig Ud XTI HAF Pal RIfud garr?

(31) g% (3) SRR



(d) 3r8HeEe (@) BRI

Where was India’s first iron and steel plant set up -
(a) Mumbai (b) Jamshedpur

(¢) Ahmedabad (d) Bokaro

(V) STt WISt ufeT &1 wrTed fhde fhar?

(31) ar+ e (@) oFd ImTeY feaa)

() TSI M AT I (]) TTER YRt
Who edited the Bangal Gazette newspaper ?
(a) Warren Hestings (b) James Augustus Hickey

(¢) Raja Ram Mohan Roy  (d) Gangadhar Bhattacharya

(V1) IRA # BT Sl oReT 87

(31) wgaci (@) TP <eira

(|) TesEH (]) <1 T

Which party system is there in India ?

(a) Multy party (b) One party

(c) Alliance (d) Two Party
(vnn) |EITE farTroT srfSrierd: STenRa i 8—

(@1 g R (@) d21 W

(@) TRIR W) (@) S )

Mostly social divisions are based on -

(a) Death (b) Dynasty

(c) Family (d) Birth

(vm) Fgfe urdt @ faRmar &—

(&1) ™IS STHHT]

(@) 3 YOR AUART & UR TSfIfde A< UR UPIEHR g0 &l & |
(@) snfeie AT (]) Nrota= &1 |9l

Characteristic of the communist party 1s —

()



(a) Social inequality

(b) Accepts economic reforms but maintains a monopoly or political power

(c) Economic inequality (d) Support to monarchy

(X) Soedr YT BT A HROT & 1
(31) SRETRY (@) arfeem
(%) T (@) =74 & I T ()
The root cause of consumer exploitation is -
(a) Unemployment (b) Illiteracy
(c) Poverty (d) None of these

(X) uTIoT S H Bl B ERIRar g fhafey B8R B — 1
(31) 3T (@) wad S & foy
(%) facer amn & forg (@) uiRaR® sma & fog ()
What is the main reason for the need of credit in rural areas -
(a) Accommodation (b) For crop industries
(c) For foreign tour (d) For family income

(xi) TefafEm wreE ST e H 9 RS o= a9 H wEn o §7 1
(1) = () = e
(w) fie s () sioeTze ()

Which of the following is used by the aluminum smelting industry as a raw material?

(a) Sugarcane (b) Limestone
(c) Iron Ore (d) Bauxite
(xn) =1 & 9 =it fafia= e % e WeR Trary 3iR dig Ui &1 wiwan 82 1
(o1) Forsfrereon (@) T
(<) Srgefiertor (1) SRR ()

Which of the following is a process of mutual relations and rapid integration between
different countries?

(a) Privatisation (b) Nationalisation

(c) Globalization (d) Liberalization



g2 Raa wF @t gfd sifog —
Fill in the blanks -
(i) st fafaet g s= R T fasm., % UCZARI G9 F AEF 71 T 9 | 1

The advertisements made by Indian manufacturers became the vehicle of the
nationalist message of ..o

() RT ¥ A<t B A I qTed SAE AM | ST ST | 1
Labourer sent from India to foreign countries were known as ..............

() € BT IoHITT I B 3T F8T fHaT S Fhar|” A 6@ o, T g | 1
Religion can never be separated from politics ................. said these words.

(IV) STRTT ST BT oo 3 ¥ HET WAl & | 1
The average income 1s also called ............. income.

(V) TR H BT (F1E) oo STRI HRT § | 1
.............. 1Ssues currency notes in India.

(V1) IRT & TRITY BT LT SUIRHT feasd F91-IT ST € | 1

National Consumer Day is celebrated every year in Indiaon .............
¥. 3. JTAgTRIT® Ul & SR Udh e a1 U URes 3 for—
Very Short Answer Type Questions — (Write the answers of the questions in one word
or in one line)
(i) 1880 % 3¥TH H I W I AT 1 I I2M % IR H for@n ATt HERIS *1 I Afgensi &
™ fafe | 1

Name two women of Maharashtra who wrote about the miserable lives of upper-
caste women in 1880s.

(i) “vem fa<q gg usdT AP D gg M| BIg Tb HRUT (AR | 1

“The first world war was the first modern industrial war.” State any one reason.

(iii) onfe — siEmfieRo | M T T 87 1
What do you mean by proto-industialisation ?

(iv) Sg &1 o1 SUANT &7 1
What is the use of jute ?

(v) 3MUS AR 918 b &1 Uh U A | 1
According to you, state are measure to prevent floods.

(vi) @OR f&T ®ed 87 1
What is trade ?

(vii) &R T R 7 ? 1
What are regional parties ?

(viii) SHAT B Pls QT M gAY | 1

State any two advantages of democracy.

(iX) Srpas @1 &1 gAIfadl I | 1



State two challenges to democracy.

X) "ba =Rl SR B9 Pdad 87 1
What 1s gross demostic product ?

(i) IIE a3 | 3MY a7 FHd 8? 1
What do you understand by tertiary sector ?

(xii) Tet foreRm RaTe foreh GRT WRTIoI sl TRl © 2 1
Who publishes the Human Development Report ?

gus—4
Section - B

AERRIGTS Y& — U 4. 04 § 16 & S folfay (Iq AT 50 )
Short Answer Type Questions — Write the answer from Q.4 to Q.16 ( Word limit : 50 Words)

U4, SAMERE F1R? 2
What is romanticism ?
U5 dc 89 gHsial 1§ ? 2
What is the Bretton Woods agreement ?
9.6 GUEl Sl FT BRI 82 Py &I I&BRYT I | 2
What are vulnerable species ? Write any two examples.
U7 dgSeRT URATSRI & &I A 18U | 2
State two advantages of multipurpose project.
U8 Vdl 3R WP I fha dsd 27 2
What is Rabi and Kharif crops ?
U9 WY 7 JaRET IR # 3y e BN | 2
Explain the difference between local and international trade.
W10 AThdd | ORI BT ARIER T MaeTdH 8 7 2
Why is there a need of power sharing in democracy ?

A1 59 UBR AMISS <RI I Albds gge 8l & ? 2
How does democracy strengthened with social differences ?

W.12. 919 G AR QAT H J=R T | 2
Explain the difference between pressure group and movement.

U143 e A o 87 ufd «afh o ok I o1 &7 gk forar | 2
What is economic development ? Write the definition of per capita income and national
income ?

H14 ol RIS 3R J=5~ RISFRT # favg #ifsg | 2

Distinguish between open unemployment and disguised unemployment.

W5 g1 TSR B QI8N AN Bl ATLIHBAT BT T B ol 8 |
YT BT | 2

“Money solve the problem of double coincidence of wants.” Explain.



W46 SIS STI Toheledl 1 TSU hel R Thd ¢ ? 2
By what means can the consumers express their solidarity ?
gres—Y
Section - C

e ST uv— Ue 17 9 20 & SR faf¥au | (3 A 100 9ek)
Long Answer Type Questions — Write the answer from Q.17 to Q.20 ( Word limit : 100 Words)

Y17 SeRAR IgdE $ faeman faRau | 3
Write the features of liberal nationalism.
918 “HEEF B o e # decayel e i 217 18 99 de 9disy | 3

Resources play an important role in any development . Give any three arguments.

19 WRA H oI # S IR ST @ SRR T 8 | 9T 3T 39 HUF W IEAd 27
PIE I Tb SIfoTT | 3
There is caste in ‘politics’ and “politics in caste’ in India. Do you agree with this statement.
Give any three arguments.

20 JIGHROT H SN AT FHd 87 $9 99 9 Il PRPb 180 | 3
What do you understand by globalization ? State the factors that make this possible.

Yrs—q
Section-D
feEreT® Ue— U 21 9 22 @ S<R faRau (I AHm 250 ¥R)
Essay Type Questions — Write the answer from Q.21 to Q.23 ( Word limit : 250 Words)
4. 21 fafu= Terifaes o ger Faifas & gara ) H=&i o9 gu 9?

S CIH

IERI W TP INABANT el fbdg UpR <81d § 4 bt a1 ? 4

Why did political leaders differ sharply over the question of separate electorates ?
OR

How did the non-cooperation movement spread from the cities to the countryside?

¥22 HUAE 1§ ? G| % (ARl BT |Hsiey |

AT
I 2T ARl & A WR DI —hF I 87 30d oA &I Ulhar 98U 4

What is federalism ? Explain its main features.




OR
What are the different levels of local government system ? Explain the process of its

formation.

Y. 23 U &I SR oI W gEfam # SIS |

o T vRA & e gEfaa § fAEfalRag a1 sifed #ifv |

(31) g™t (@) RTaHTeT
() TR () TR
3AdT
(31) =R (@) THThEH
(%) g=wme (%) T7Fe 4

Answer the question in the given map —

Mark the following in the given outline map of India.

(a) Vadodara (b) Rawatbhata

(c) Tutikorin (d) Gandhinagar
OR

(a) Beawar (b) Amarkantak

(c) Sundargarh (d) Tumkuru



